
FXLIT-027   A   7/20 +1 760-591-7383   fxl.com

Replacement Parts 

DESIGNER | WALL LIGHT | SL

Lamp Replacement 

ITEM DESCRIPTION CATALOG #

1 Faceplate, Beveled (BV) –

2 Faceplate, Round (RD) –

3 Faceplate, Flat (FT) –

4 Faceplate, Curved (CV) –

5 Setscrew, #4-40 x 1" 250028410000

6 Gasket, Faceplate –

7 Gasket, Lens 250028370000

8 Lens, Batwing 250028380000

9 Beam Angle Lens See LED Chart

10 Screw, #4-40 x 3/ 8" 762400

11 Reflector See LED Chart

12 LED Board See LED Chart

13 Socket, 3-meter –

14 Housing –

15 Screw, #6-32 x 3/ 8" 250028400000

16 Screw, #6-32 x 1/ 2" 250028910000

17 Mounting Bracket 250028290000

1, 5-6 Faceplate Assembly, Beveled (BV) SLFPBVXX*

2, 5-6 Faceplate Assembly, Round (RD) SLFPRDXX*

3, 5-6 Faceplate Assembly, Flat (FT) SLFPFTXX*

4, 5-6 Faceplate Assembly, Curved (CV) SLFPCVXX*

* XX = Powder coat color code 

ITEM DESCRIPTION CATALOG #

9 1LED Beam Angle Lens 1LEDFLLENS

9 3LED Beam Angle Lens 3LEDFLLENS

11 1LED Reflector 770000

11 3LED Reflector 770700

11 ZDC LED Reflector 250022050000

12 ZD 1LED Board 1LEDULKIT†

12 ZD 3LED Board 3LEDULKIT†

12 ZDC LED Board ZDCKITM**

† ZD = Zoneable and dimmable (add ZD to front of part number)
** ZDC kit includes LED board, reflector (#11), screws (#10), and flood 
lens diffuser (3LEDFLLENS)

9

1

7 8

6

5

11

12
13

14

15

16
17

10

1

2

3

4


